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How many syllables in entrepreneur? 4 syllables
Divide entrepreneur into syllables: en-tre-pre-neur

How to pronounce entrepreneur: =)
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1 en

2 tre

3 pre

4 neur
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I CANNOT TEACH
ANYBODY
ANYTHING. I CAN
ONLY MAKE
THEM THINK.
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1. I can not E %3 D)
2. teach anybody anything. (HAEM A *» /A F)
3.1 can only (FH R %)

4. make them think. (E 4L/ B # )
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1. ICN (I can not)
2. TAA (teach anybody anything)
3. ICO (I can only)

4. MTT (make them think)

ICO ICN

MTT TAA

ICO ICN

MTT |TAA
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1.1 can not (FHF ) TICN
2. teach anybody (#4EMA) TTA

3. anything. (/M E) A



4.1 can only (FH R %)
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5. make them (4243419 )

6. think.
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42 : ICN ' I can not

"1CO |

"MT |

TA : teach anybody
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1 (ICN) |3 (A) 2 (TA)|6 (T) |4(ICO)
4(1C0)|6 (T) [1(ICN)|5(MT)

3 (A) 4 (I1ICO) 1 (ICN)
6 (T) 3 (A) 2 (TA)
1(ICN) |2 (TA)|5 (MT) |3 (A)

6 (T) |5(MT)|3 (A) 2 (TA)|1(ICN)
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1. I can not "ICN |

2. teach ' T |

3. anybody anything. " AA |

6. only 'O

7. make "M |
8. them ' TM |
9. think. " TK
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5(C) 3(AA) |9(TK)

8(TM) | 1(ICN) | 4(1)

2(T) 6(0)
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